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-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice answer with question number from the given four options.
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CLASS-X
MODEL SET FOR ANNUAL EXAM 2017

SET–III
GROUP-A
PHYSICS

1. 1
Which type of lens is used in simple microscope ?

2. S.I. 1
What is the S.I. unit of electric resistivity ?

3. 1
What is armature?

4. 1
What is spherical mirror ?

5. (aperture) 1
What do you say about aperture of lens ?

6. 2
Why the sun looks florid at the time of sunrise and sunset ?

7. 2
Write the Fleming's left hand rule.

8. 3
Where we kept an object in front of concave mirror, so that the image is formed of same size ? Show with ray-
diagram.

9. 2m 3
Find the power of concave lens of 2 m focal length.

10. 5
What is Ohm's law ? Describe with an experiment for its proof.

CHEMISTRY
11. pH 1

What is the pH value of neutral solution ?
12. 1

Write the name of one allotropes of carbon.
13. CH3Cl IUPAC 1

What is the I.U.P.A.C. name of CH3Cl ?
14. 1



28 SCIENCE :  CLASS-X

SCIENCE

How many column in modern Periodic table ?
15. 1

Write the chemical name and formula of salt.
16. 2

(i) (ii)
Write the structural formula of the following compound.
(i) Proponal (ii) Ethane

17. 2
Write the one equation for plaster of parts react with water ?

18. 3
What is homologus series ? Write with an example.

19. Cl 3
Define isotope. Write the name of two isotobe of Cl.

20.
Write the main ores of zinc ? Define the extraction of zinc from it ores ?

BIOLOGY
21. 1

Write one main reason for casual of high blood pressure.
22. 1

What is synapse ?
23. 1

Write the name of enzyme which present in Saliva.
24. 1

By which life process living things take energy.
25. 1

Write one plant hormone name which help in plant growth.
26. 2

Write name of any four endocrine gland.
27. ‘R’ 2

What are three ‘R’ for environment saving ?
28. 3

What is sexual reproduction ? Write its specific features.
29. 3

Write difference between antery and vein.
30. 5
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Explain fertilization process in flowers by well labelled diagram.
31.

(GROUP-B)

PHYSICS
(i) — 1

(A) (B)
(C) (D)
The nature of image is—
(A) Erect (B) inverted
(C) Erect and inverted (D) None of these

(ii) — 1
(A) sin

sin
i
r (B) sin

sin
r
i

(C) sini × sinr (D) sini ÷ sinr
The refractive index of any medium is—
(A) sin

sin
i
r (B) sin

sin
r
i

(C) sini × sinr (D) sini ÷ sinr
(iii) 1

(A) (B)
(C) (D)
Which is used for obtaining spectrum ?
(A) Convex mirror (B) Glass slab
(C) Concave lens (D) Prism

(iv) — 1
(A) (B)
(C) (D)
The resistance of a conductor depends on—
(A) length of conductor (B) cross-section area of conductor
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(C) nature of conductor (D) on all of these
(v) 1

(A) (B)
(C) (D)
Which lens is used for the treatment of far sightedness—
(A) concave lens (B) cylinderical lens
(C) convex lens (D) none of these

(vi) — 1
(A) (B)
(C) (D)
The suitable material to make electromagnet is—
(A) steel (B) soft iron
(C) nickel (D) None of these

(vii) 10 20 — 1

(A) 20 (B) 20
3 

(C) 30 (D) 10
The equivalent resistance of two resistance 10and 20in series combination is—
(A) 20 (B) 20

3 
(C) 30 (D) 10

CHEMISTRY
(viii) 1

(A) H 2 (B) C O
(C) O 2 (D) H2S
Which of the following is reducing agent ?
(A) H 2 (B) C O
(C) O 2 (D) H2S

(ix) 1
(A) (B)
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(C) (D)
In which type of reaction in corrosion ?
(A) Reduction (B) Precipitation
(C) Combination (D) Oxidation

(x) 1
(A) HCl (B) HNO 3
(C) H2SO4 (D) CH 3COOH
Which of the following is weak acid ?
(A) HCl (B) HNO 3
(C) H2SO4 (D) CH 3COOH

(xi) 1
(A) Cu (B) Ag
(C) Fe (D) Zn
Which of the following metal is react with both acid and base.
(A) Cu (B) Ag
(C) Fe (D) Zn

(xii) 1
(A) (B)
(C) (D)
Which of the following ore is copper ?
(A) Cuprite (B) Boxite
(C) Cinebar (D) Calamine

(xiii) 1
(A) (B)
(C) (D)
What is carbon ?
(A) Metal (B) Non metal
(C) Metaloid (D) None of these

(xiv) 1
(A) 1 (B) 2
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(C) 3 (D) 4
How many electron in outer most orbit of He atom ?
(A) 1 (B) 2
(C) 3 (D) 4

BIOLOGY
(xv) 1

(A) (B) CO2
(C) (D)
Oxygen released in photosynthesis comes from
(A) water (B) CO 2
(C) glucose (D) starch

(xvi) 1

(A) 100
120 (B) 120

80

(C) 80
120 (D) 120

100
The normal blood pressure of humans is

(A) 100
120 (B) 120

80

(C) 80
120 (D) 120

100
(xvii) 1

(A) (B)
(C) (D)
Nephrons are the structural and functional unif of
(A) Mitochondria (B) Cytoplasm
(C) Chloroplast (D) Nucleus

(xviii) 1
(A) (B)
(C) (D)
Centraction of heart is called—
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(A) Heart (B) Kidney
(C) Lungs (D) None of these

(xix) 1
(A) (B)
(C) (D)
Main function of stomata is—
(A) Photosynthesis (B) Transportation
(C) Nutrition (D) Exchange of gases and transpiration

(xx) 1
(A) (B)
(C) (D)
Which one is asexual reproduction method.
(A) Fission (B) budding
(C) binary fission (D) Above all.


